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B | €95y | EFH 7Uh+ 957 2E( BK
1 42 | BRE 4y L% MES =7 KIgI57 IN5 | 37.450
2 46 |FE= JEKER | £0R': Yv407 INT IR RRY77 1 | 37.250
3 53 |EH mK AN A FFAFNAR =957 IN5 | 37.200
4 41 |8 FZ Y7337 Jeb MBS =T H&IEI77 /N6 | 37.050
4 51 |f5H BN NIE ARy FFAFNAR =957 thi1 | 37.050
6 26 |BFH FW TA4 nVh THAE)F7 /N6 | 36.950
7 52 |24 1%F fyr 19 FFATNRE =977 /N5 | 36.800
8 24 |EF RE Y WISEL INTARFARRY 77 /N | 36.700
9 32 |f2H #* 794 #4b ISARR —9957 3 | 36.400
10 28 |BH BB N4 197 THAE)F7 /N6 | 36.050
11 37 |HEE EE £y /] =ZEBMARERAI-L /M| 36.000
12 40 |BA0O A 357 13°% MED =T H&IEI77 /N6 | 35.900
13 33 |IUT B Yvvh 493 i EAR-v957 hi1 | 35.800
14 39 |hnfE B hby 14k BB =T HKIEI77 /N6 | 35.500
14 49 |#EH R $554 nvah NTARREKRYF7 /N4 | 35500
16 34 |ETHT fRIER VENSRUES AR =977 1 | 35450
16 35 |FIF ik Y% 31944 AR =977 /N5 | 35.450
18 50 |HFE Bk Thy'w 7k FTFATFNRE =977 1 | 35.400
19 29 |hEF ER w9 T ARG THAE)F7 /N6 | 35.300
20 27 | K& AW 4% ehl THAE)F7 /N6 | 35250
21 36 |EH WX Y4 Y4 i ERK Y957 /N3 | 35.200
21 47 |BEX —1E 97T 1% INT IR ERY 77 /N4 | 35.200
21 48 |HitHE FO0zZE (EENDY INT IR EIRY77 /N4 | 35.200
24 38 | KB A tAny anAr =EBNERRI-N /N4 | 35.100
25 31 |ARHE Hak VLR S ISAAR —9957 b1 | 34.850
26 43 [AE &KX 447 2944 MBS =T KIEI77 /N6 | 34.150
27 30 (#AB #=X YUHF a4 ISARK —99757 /N6 | 33.600
28 25 |[ZEN) B 2 DIVEY] INT A NFHERY 77 b1 | 33.500
29 23 |B#E i Tt I4b INT A RFHERY77 /2 | 33.150
30 22 |@EF IR ZYL7 T3V INT A RFHERY 77 N2 | 32.950
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